Efficiency vs P,

0.2 T
. : : :
L0.18F i RERLEAEERRES RRREEELREED
> E : : :
S 016 i Preneneeeeepd AARERRRLREEE
o : : :
(&)
S0.14
o

0.12
F S B SN —

.................................................

.................................................

0.08F---------- ------------ ....... ............
0.06}----------% ------------ ........ ............
0.04F-+e-mene- S % ............
0,02+ *%ﬁ+ﬁ*ﬁ;ﬁ#+% | S
- -+. ] - .
o OF——rrel ol Lubb L
% 1-— """" 1r-§ +r <H>-1r:-|r----v- -n-"-"q»-i ............
o

o

©
TTTT[TTTT

e

-

+

o
©

=

o
iN

=

10 . Gedf’

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom

= 0.2
O T N
e S

Q E . . . .
L R A S
(&) L . . . . .
E0.L4E bbb
o F : : : : :
O e R prrr pr
0.0 ebergeedonneens Beeeede TR
e e
0.0 -++-wieesmeesde fpepepbeeeeendine o B
0.04F i+ * him‘} Sheeen
0.02F - %-~-5~--:--%€~+ ----------
i G*$++ R
T : i L : :
b LB
et : L
-3 =2 -1 0 1 2 3

Efficiency vs ¢

s 0.
g
20.09
2
_90.08
(8]
£0.07
[J]
0.06]
0.05
0.04

................................................

...............................................

[N AN N LN RN RRR RN LR

JIIT
&

o
© N
LR B

o
@©
)|

TP @



	Contents
	Page 1


